T2 f(x) = 2% + 227 —x +k7F QA x - 1& 1= 7HE o, o]
o] f(x) & Qe o7

® (x-2)(x-1)(x+1) @ (x-x(x+2)

@ (x+1)(x=-1)(x+2) @ (x=2)(x-1)(x+2)



2. r—1-iam it 7l o gen
z z s

D —i ® i B —9i

@ 2i



3. xol OHF OlAHA] 242 4 (k+ L+ k - 10] SAAFA o] B u, £
e Fofoler.

s
=¥



4. A0 -1=09 d} obd e

@ -1 @1
@1—\/§i




A x5 +ax+b=09 3t 2ol 1+ V2L o, T} E F
<= FotH? (H, a, b= FE15)

D 1-+v2,2 @ -1+ +vV2,-3

®1-+v2,3
@ 1-+V2, -3 ® -1++vV2.3



6. at+bt+c=0,a®+b*+c? =14 M, 4(a®b®+b%*c?+c?a?) 9] 327

® @) ®1 @ 2 ® 3

o
N | —



In

o9l o

D -2 ® -1 ® 0

A x3+ax® +2x+b = (2 +x+1)Q(x) + 2x + 1°] xof thgt
SAL W, a+ b G2






a, poll thote] 4o & aof =aB + (a+p)i 2 &,

T Bag
A (1+i)oz=1& TFA7= 54529 #@2? (B, i= V-1)
@1 @ -i Qi

B —1+i

@ 1-i



ol
T
ol
o8

ofie
Xfo
mo
op

o

Bade g9} 9] AejEad ;o o)

10.



11. AA 2 —dx+y2 -8y + 20 = 02 TESH= A5 x, yol Ti5}te]
x4y g& Fotoiet.

SR
=%



= Alg9] oA ax? + bx + ¢ = 0914 2] A4S

12, xof gt 4
- Vb2 —
THEND ZdC o m J)olslm Bo) £ o] _1, 25 AL}, o



13.

Ay = mx - 47} o)A y = 24% - 3 9] T 2of HIHLE St

¥ m ] L7

D V2 @ 2 B3 6 @ 22 ® 4



14.

o]
rg

!
g

p
o]

@D 6

y=2x2-4x+9 9 QHTE y FZ| WFog
StAHY F&gko] -1 o] =it m o g9

@ 7 3 8 @ -8 3 3

m T



ted (a+b—C)(“—b+C) =

S

A7y o] Al We] ZAo) g, b, cof T

15.

712



R(x) o Hhate] x7 -2 = (¥ + x)0(x) + R(x) 7}
Fe? (T R(x) O] A4 o]7} olsfelet)

® 4 @ 8 ® 16



17.

x-22 HRAS

wo] 52

(x) 2 3}l L}M%

T, % 0(0) 2 T x4 308 Wewl el A7} 3olet, ofn, f(x
X

5
)



18. Ha2 F22E SAY FodA A, Bl Histd A € B & Y
U XS R 2 5HH A 9F B O] ZZORE B 9 R 9] HchEoRse}
Zrt}’ & Hol= ItAo|t}.

A, B 9] 2|HFF+E G = 5H4,
A=Ga, B=Gb (%, a, b= A24)E YGEPE 4= 9t}
AE B=E U S QoA
A = BQ +R °l|X Ga=GbQ +R
R:G(a—bQ)
G=BSRE (7)ot
iﬂi bea-bQ 7k () 7k okehd
7} ) m (GRFol o] vehA]) o] EAfsto
b =mk, a—bQ =mk' ©] 3t
a=mk' +bQ = mk’ +mkQ = m(k’ + kQ)
Z,ab 9 (7F) mo] EAotER
a 9t b 7} A 2AEHE 7Y o] Bt
et A b & a-bQ = (1) o]tk
B =Gb, R = G(a-bQ) oA
b a-b0 7k (W) °lE=E B9k R 9 HlFFr= A 9B
o] gk G o At

() (7h), (W) ol Eet2 A7

—~

O Bk, Bk @ Fr, M 2L
® Foks, 3l @© Full, Az
® T, Zok



1200 o] 591

19.

2 Yew 100 B4 o Lob3 2474 H3ic) of

2]

2]

@ 4000

2]

@ 3500

2]

@ 3000

%

® 5000

2

@ 4500



20. 150 7] WiE HhY ol E=dl @ EhY ol B wf 10 1A F
#i7F Al =3, 11 78 GA] =E epx]eh vy E ok 92

o
2},
of uf, Hh7 9] A%t B A7}

YR 4l



21.

ruO

A 4 ax? 4+ bx+ 27} 6+ b 4 ax + 29 HP) TR}
o, < a, b ol k] a+ b gL FoHE?

@ 3 3 0 @ -3 B -5



22. e IHL OIS y = f(x
o) Mz e A Ao gL




23.

x o) T o)A AA k2 —d(a—1)x+a—-2b=0°] FZ 7 o,
b o] ZAE 5ot

(=g
=¥



24.

5x — 8<3x+8x 5>-2aE&
A a O T2

-5tofzt,

=

St=x &

A

=3¢}
T=

9



25. AXZE HY I st=d st AAte] AltREA 7 10kg olgtx
o AE A, B, C 9 7F B g4 26 AHolar, FeFol Z+
0.5ks. 1.2kg, 0.2kg % ), 3 4ol GO W AgHRAC] 2
AT St AHE C o Ag0] Haghe Fatola)

a = 7

2 N rSL



